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Mr. Schlansky J Geometry

Circles Regents Review

L. Indicle DymOk=80° il mkB = 1505 Find slfiC

| SO0k x = 3O ISe

2. Incircle O, mDC = 75°, find mCB

- o | (2
EE e S

3. 1£DG = 130°, find the measure of 2 DOG.

"\
wb ]

4. If £BOY = 87°, find the measure of/E;{ :

Wo

N\
5. If £LRAY =35°% find RY

2(39) =W




6. In the diagram below of circle O, chord 4B||chord CD, and chord CD||chord EF",
B

Which statement must be true?
CE=DF

2) aC=DF X

3) ac=tF X

Y EF=TD X

7. In the diagram below of circle O, chord 4B s parallel to chord CD.

Which statement must be true?
AC«BD

2) A4B=TD

3) AB=CD

4) ABD = CDB

8. In the diagram below of circle O with diameter BC and radius O4, chord DE__is parallel to
chord 4. 702> B

If ms/BCD = 30°, determine and state msAOB.

(v

IFmAD = 60, what is mZCDB?
1) 20 3) 60

2 30 T:I{ét)):ﬁo"

10. In the diagram of circle O below, chord CD is parallel to diameter AOB and mAC = 30,

. B0+430 =150 CAD

What is mCD?

1) 150 X*’w:\g? 3) 100 A

120 - Yo 4) 60 A
X =la0-




11. In the diagram of circle A shown below, chords CD and EF intersect at G, and chords CE and
FD are drawn.

Which statement is not always true?
)’)/E}' =FG X
2) LCEG= £FDG nstnbed b5 sareare v

3) CE _ FD gy provortion
56 =g P &=

4) ACEG~AFDG -

12. In circle O shown below, diameter AC is perpendicular to CD at point C, and chords AB, gé,
AE, and CE are drawn.

Which statement is not always true?
A) LACB=/BCD X
2) ZABC= 24CD insivd b dameler/ Jngunt -diarele-
3) ZBAC=/DCBinschbil b Sum arc v~
4) 2CBA= LAEC byth instiod J, diamdder, ~

— — — — —— —
13. In the diagram below, DC', AC, DOB, CB, and AB are chords of circle O, FDE is tangent at

point D, and radius AO is drawn. Sam decides to apply this theorem to the diagram: “An angle
inscribed in a semi-circle is a right angle.”

Which angle is Sam referring to?
1) z40B X
2) «BAC X<

A «pcB S

4) LFDB X ( \311} ngu bu%\" M@.’_ .}.qn%cﬂ:qn"ﬁ"

14. In circle O shown below, AE is a diameter, SB is a tangent, and chord AR and RE are
drawn.

Which of the following statements is true?
1) LZEAR=/RAB X 3) LSAR=LBAE X
2) LREA = LSAE ¢ _Ar LERA=/.BAE -~




15. In circle O shown below, BR is a diameter and chords BU, IU , and IR are drawn.

Which of the following statements is nof true? l
1) LBUI = L BRI v/4®4r _3y"7 UBT = /BRI X
2) LITR = LBTU/ yet@\  4) LRBU = LRIU/

angias Sami i

16. In circle O shown below, GM is a diameter and chords EM ., OG,
EG and EO are drawn.

Which of the following statements is not true? SurmW st

1) LZMEO = LOGM/ 5éreai«  3) AMGR = AEOR X constat

2) LGRM = LORE/vev#  4) LGEM is a right angle,/ inscaibec
f"'ﬂj&) {.3 Clh‘m‘dkr

17. In circle B shown below, TW is a diameter, tangents EW and ES
are drawn and chords WS and TS are drawn.
Which of the following statements is nof true?
1) LESW = L WTS sofiarc v'3) L EWS = £ ESW SamM arv”
2) LWST = LEWT - W LTWS = LSTW >
inschibedd o chiameled famenl-diame b

18. In circle O, the measure of central angle AOB is —5 radians

and the length of arc AB is 10 cm. What is the measure of
radius OB?

=l



19. What is the measure of the central angle below?

S=oC G=d> 5 cm o

20. In circle O, the measure of central angle AOB is % radians

and the length of arc AB is 5. What is the measure of radius @ ?
_ | " m "

21. In the diagram below, the circle shown has radius 10. Angle B intercepts an arc with a length
of 2.

What is the measure of angle B, in radians?

) 10+27 ><.__- -
2) 207 S -3 “

Y x P
i | :XC)
)i S

22. In the diagram below, Circle 1 has radius 4, while Circle 2 has radius 6.5. Angle 4 intercepts

an arc of length =, and angle B intercepts an arc of length -1—38£.

Circle 1 Circle 2

St
5 O
7 N e 2=

<’@ 5 = >

Dominic thinks that angles 4 and B have the same radian measure. State whether Dominic is

correct or not. Explain why. [(/@/ | ‘J)h'zﬁ h_) .“) )}QLQ = MQJZSU fo &_%’i/




23. In circle O, m£AOC =70 and AO =2 in. Find the area of sector COA to the nearest square

et onfe [EED
s

A

Aﬂ@q o3 @

et
F ‘1 }
A= 700Q
=7
24.In circle O, if £ BOY =80°and BO =8 cm, find the area of sector BOY in terms of 7.

s B
A= s

“2g

25. Given that circle O has tangents PR and PV, if mﬁ =70, PO=10 cm,and PR =8 cm
find the area of sector ROE to the nearest tenth of a cm.

26. In the diagram below of circle O, diameter AB and radii OC and OD are drawn. The length
of AB is 12 and the measure of ZCOD is 20 degrees.
X4 D x=(80
,;')\!({— = I%’O
As -

Pl

A= 50




27. Triangle FGH is inscribed in circle O, the length of radius OF is 6, and FH = OG.

- o

What is the area of the sector formed by angle FOH? g H‘W k A

1) 2x

2) 3 Qﬁtf" A g
2 ¥ - o

.3)/68' -

4) 24x A_., (af)/%@

28. In circle O, tangents PR and PV are drawn. If m£RPO =20 and VO = 24 cm, find the area
of sector ROE in terms of =. d E 21 =40

e o=l
f=opt™

A 70N
Ao 7

29. In the diagram below of circle O, the area of the shaded sector LOM is 2x cm®.

=3

If the length of ML is 6 cm, what is mZN ? N <

1) 10° = A

A P
A3 40° 20

4) 80° A 30’ 44/

Qﬁ‘f" (9 M%\

30. In the diagram below of circle O, the area of the shaded sector 4OC is 127 in® and the length
of OA is 6 inches. Determine and state mZAOC. A




31. In the diagram below of circle O, the area of sector STO is 487 in® and the length of OP is
12 inches. Determine and state m£SOT

32. Given: Circle O with diameters 40OB and COD, and chords AC and DB
Prove: R’ = DB A G

S
33. Given: Circle O with AB = CD A
Prove: AABO = ACBO 4}

34. Given: Chords ADand % of circle O intersect at E, AB = ED

Prove: EE‘ = E

pery pme P
35. Given: Circle O, tangents PR, PV E
Prove: LRPO = LVPO
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